-

-
2
E

FEPIRNF LT [F7c@RRRKAE

1 ICE

JOMRTHAS (R1Mm)

~

EEALKEE
SM4FE 5H25H

= o mXATEREER

revelln



=5 =/KETE

= *"Eiﬁ’.E ( FEAJIA

[ ]

,

]
L1 )

Jl'l'l.l

AKAE(T.P.,m)

uloY, Sivd

/ﬁ HILHAATERE % B TREETTL

_10.4m

TR,  BHARBEEET I

0 60 120 130 240 300 360

HhER E S &R E] (5)




7 ~ = =
1 ®g7a L. BNEsEtE
| M5 117m =)
S 6.0m
SAEAE  5.0-10.0 \ g
=KFBEE  40-42901% O A e
o5 5.4m
RAN=HKR - 3.0-5.0
/i%k&ﬁéz@ﬁ%ﬁaﬁ 42-4457%
HIl | 2.0 ~
/\ pil e
== 9.9m \ 3.0 ~ 5.0
SREAE 0.3-0.5 \ e
=KFREER  89-9001% 2 0.3~ 0.5
0.3

|
A [... VPO D



il

1 BuRH Y. BREFHE

1
|
-

A NF - unk E 5
=

— 417t 11.7m
ERAPFR

E3GT 6.0m
=

SAEAE  5.0-10.0 \ v
7%7}<Eﬁﬁéﬁzﬁtﬁﬁﬁ 36-38%’?& tNGE | / I
R = 5.4m

mRAN=AE  5.0-10.0
=/KFIEREE  36-38901&

il

$1,)11 BR //

E 5 9.9m
EHEAE  3.0-5.0 |
SOKEIARSEE  40-424078 2

= 2 — B




1 fR7A L. RAb A K EhitE
/) w5 0m 5

b =

E3GT 6.0m
B N RIKGE -
=K FE A -

EEAPER
Z 5 5.4m
BREMKE -

= 7l B 26 BEF ]

2.0 ~
10.0 ~ 20.0
FL)11BR 5.0 ~ 10.0
E 5 9.9m 3.0 ~ 5.0
- 1.0 ~ 3.0
B KR KGE - 0.5~ 1.0
=K B B 3~ 0.5

0.3




il

1 #EEH Y. FRALH A A FPHE

== 6.0m ' 4457 10m

SH2AE  5.0-10.0 \
BKBIIABSRT 46-485% N

. R

i EBEAPRFR

b =

R IE] 5.4m

RA=RNR  3.0-5.0
=/KFIEREE  48-5001&

N1

115 /

SEARKE 0.3-05 \
BKBRIERY 54-565)44 2
= :‘ . o "7// 7N

) | ¥ A - E LR Rl



2 \/_.\ —
1 I L, TEBEHE
R ST ;
=S 6.0m / 1
BRANIRIKOR - \ ’
R o~
Z= 5.4m
/ (//////////////%kﬁm% -
/ amidt 2oKBILESRT -
il 20.0 ~
b
R 9.9m 3.0 ~ 5.0
RARKR - 1.0 ~ 3.0

0.5~ 1.0
0.3 ~ 0.5
~ 0.3

=/KFRmERE -

BT Al



1 BIEH Y. TEEEHE

- v - _

REA/NFR "r 58/ \%: B if

o5 6.0m 2% 10.5m .~

B A2 KE 3.0-5.0 \ |
=KEBEE  60-6291% |

0l

20 EBEAPRFR

= 5.4m
B K= 7KOE 3.0-5.0
=/KFEIBREE 62-6401%
BARAKE (m)
, \
I8N \ 20-0 =
FL)11BR 10.0 ~ 20.0
— 5.0 ~ 10.0
ol 9.9m 3.0 ~ 5.0
B A= 7KOR - 1.0~ 3.0

0.5~ 1.0
0.3 ~ 0.5
03

=/KFRmERE -

BT+ At HhE]



